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1 (@) The price of a coat was increased from E450 to E520.

Calculate the percentage increase.

ANSWEE (Q) ©voveeveerieiieiie et re e ere % [2]
(b) A sum of E420 is to be shared by Sindi and Lindi in the ratio 3:4 respectively.

Calculate how much will Lindi get.

ANSWEr (D) E...ooveece e [2]
(c) In a sale the price of a television set was reduced by 15%.
A customer paid E510 for the set.

Calculate the original price.

FAN T (o) | = [3]

(d) A money lender charges 12% annual compound interest on loans.
A client borrowed E6000.
At the end of the agreed upon period the client paid E8429.57 in total.

Find the period for the loan.

ANSWET (d)..eeeieeiee e years[2]
(e y varies inversely as the square of x.

Whenx =7,y =5.

Find y when x = 3.

ANSWET(E) Y S [3]
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2 (@) Twenty passengers were transported in two types of taxis.
Type A took a maximum of 3 passengers.
Type B took a maximum of 4 passengers.
All taxis had maximum numbers of passengers.
There were 2 more type A taxis than type B taxis.
There were v type A taxis and w type B taxis.

Find the values of v and w.

Answer (a) V=....ccoceenen YW [4]
(b) The equation of a curve is
y=3x%*-6x-7.
The gradient of the curve at point U = 12.
Find the coordinates of U.
Answer (B) (coooveeerene ) eeeereeneae ) [4]
© The equations of two straight lines are yT—Z =2x+1and 3y=x+15.
Show that the two lines intersect at (0,5) [3]
© ECESWA 2021-2023 6880/04/SP/2021-2023 Turn over
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3 (@) Use the diagram to answer the questions that follow.

NOT TO SCALE

=
3.40cm 5 560m
S 7.08cm U
(i) Calculate the length of side PT,
ANSWET ()(1) PT= e cm [2]

(i) Calculate the size of angle TSR,

Answer (a)(ii) angle TSR =.......cccoeiiiiieiee e
(iii)  Calculate the size of angle RPQ.

Answer (a)(iii) angle RPQ =......c.ccoe i
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(iv)  Calculate the area of triangle RSU.

ANSWEr (2)(IV) 8rea =....cveveiecieie e cm? [2]
(b) ABCDE is a square-based pyramid.

The length of each side of the square is 4.3cm.
The height OE of the pyramid is 6.2cm.

Volume of a pyramid = %x base area x height

E NOT TO SCALE

(1) Calculate the angle between edge BE and the base ABCD.

ANSWET (D)(1)eveeeeiiieceee e °[4]
(i) Find the volume of the pyramid.

ANSWET (D)(I1).cv.vovevreeeeeeeeeee e, cm?® [2]
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Three bags contain green and white balls of the same size.
Bag A has 2 green balls and 3 white balls.
Bag B has 3 green balls and 1 white balls.
Bag C has 6 green balls and x white balls

(@)

(b)

(©)

(d)

A ball is drawn at random from bag B.
State the probability that
(1) the ball is white,

ANSWEL (A)(1)evveevrrriesieeie e [1]
(i) the ball is red.
ANSWET (B) (1) +evveveerereeieieeese e [1]

The probabilty of getting a green ball from bag C is % .

() State the probability of getting a white ball.

ANSWET (D)(1)eveive e, [1]

(ii) Find the number of white balls.

ANSWET (D)(I1) .o [1]
A ball is drawn from each of bags A and B.

Draw a possibility space diagram for the two draws on the grid.

[2]

Use the possibility space diagram to find the probability that the balls are of different
colours.

ANSWET (). [1]
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(e A group of 30 participants were asked which type of fruit drink they liked from

orange, guava or apple.

The results are shown in the Venn diagram.

G

(1) A participant is chosen from the group.

Find the probabilty that they liked guava juice.

ANSWET (B)(1).eveiveeieiieie e [1]
(ii) A participant is chosen from those that liked juices.

Find the probabilty that they liked more than one juice.

ANSWET (E)(11).eveeveerieeie e, [2]

(iii) A partcipant is chosen from those that liked apple juice.

Find the probabilty that they liked they more than one juice.

ANSWET (B)(TT1).e.veveeneieeeie e 2]
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5 In the diagram VW and VY are tangents to the circle at P and R respectively.
O is the centre of the circle.
Angle RVP = 70°.
Angle SPO = 47°.

NOT TO SCALE

(a) obtuse angle ROP, Y

Answer(a) angle ROP........cccoovvvineniieince e °[2]

(b) angle POR,
Answer(b) angle PQR = ... ° 1]

(©) angle PSR,
Answer (c) angle PSR =.......ccccooiiiiinriee e °[1]

(d) angle VRS.
Answer (d) angle VRS = ... °[3]
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(b)

(©)

© ECESWA 2021-2023

10

Solve

(i)  17-2x=3,

Answer (a)(i) x =...
. x—1 3 2x
(i) 2= 222
5 3
Answer (a)(ii) x =.
Make v the subject.
2w+ kv =5
Answer (b) v =.
Factorise

()  3v-18,

Answer (c)(i)

(i)  2x*—4x-70.

Answer (c)(ii)
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(d) The area of a rectangle = 4y cm?.
The perimeter of the rectangle = (2y + 2) cm.
The length of the rectangle is (x + 3) cm.
The width of the rectangle is (x + 2) cm.

Q) Form and solve two equations to find the values of x.

Answer (d)(I) X =i y X T [6]

(i) Hence calculate the length of the diagonal.

ANSWEL (A)(I1) covvevreeveecee e cm [2]
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7 The diagram shows triangles F, G and J.
YA
6
4
G /
ja 2
X
>
-8 -6 -4 -2 0 2 4 6 8
-2
-4
5 -6
-8
-10
@ Reflect triangle G in the line x = 2.
Label the image H. [2]
(b) Describe the single transformation that
(i maps triangle F onto triangle J,
F T L= g (o)1 () PSSR [3]
(i) maps triangle F onto triangle G.
ANSWET (D) (1)t [2]
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©) Rotate triangle G with centre (0,0) and angle 180°.

Label the image K [2]

(d) Describe the single transformation that maps triangle F onto triangle K.

(e) Triangle F is mapped onto triangle L by a transformation represented by the matrix

S

(1) On the grid, draw triangle L. [3]

0 1
(i) Describe fully the single transformation represented by the matrix ( 1 OJ :

ANSWET(E) (1)1t veveereete ettt

() Find the matrix that represents a reflection in the line y = x.

Answer (f) ( j [2]
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8 On the grid is a cumulative frequency curve for the marks obtained by 60 learners.

14

The test was marked out 90.
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Use the graph to find the estimate of the

M median,

Answer (a)(i)

(i) interquartile range,

Answer (a)(ii)

(iii) number of learners that got more than 40 marks.

Answer (a)(iii)

6880/04/SP/2021-2023

For
Examiner’s
Use




15

(b)  You are given that 50 was the pass mark.

Use your graph to find the number of learners that passed the test.

ANSWET () v [2]

(c) A distribution is given below.

17 25 13 39 11 22 15

Find

(M the median,

ANSWET (C)(1) wvvvevereieiisie it [1]

(i) the mean.

ANSWET (C)(11) vt [2]
(d) The shoe sizes for 40 learners were recorded.

A pie chart is to be drawn for these results.

Shoe size . . ) . .
Size 6 Size 7 Size 8 Size 9 Size 10
Number of
learners S 11 a 8 7
Sect le (°
ector angle (°) 0 99 q 72 63

Find the values of a, pand g

Answer (d)a = ..occoviierienn TP T o [T [3]
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9 You are given that f(x)=1-2x, g(X)=3x+2 and h(x)=2x?.
(@  Workout f(-7).
ANSWET (). [1]
(b) Find g (x).
ANSWET (D) oo [2]
(©) Find, in simplest forms, expressions for k(x) given that:
hk(x) = 2x? +4x+2,
ANSWET (C).vv wveeeneerieiesie sttt [3]
(d) Solve for x given that
(f())* = 2h(x).
ANSWEN (d) X = v [3]
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(e) Find the value of x given that

f1(x) = 9.

ANSWET (B) X = oottt [2]
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